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Activity Sheet T3–1k    Review 11
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[image: image3.wmf]1. Order Least to Greatest: {–√62, –7.393, –2π–1, – 7.930, –7⅞}    2. Calculate the MAD:  {1, 1, 2, 2, 6, 6, 4, 4, 3,3}

 ________________________________________   
         _______________________
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3.   Set A {5, √6, –2π, 9.6, √16, 3¾, 0, – 2}:⊂B{Z} =__________________4. √ .64  = ________
                                                                                                                                                   67⁰
                                                                                                               x 

5.     1.4 X 106  ÷ 7 X 109  =_____________
          6. Find x:                                                                                                                                                        
                                                                    (in scientific notation)                                                                                                               25⁰                                                                                                                                 
7.    ¼(2x  – 8)  – (–10) = ⅝(8x  – 16)  + 4     x= __________              (For #  6.) x=________⁰
8.   Jose spent $260 and 3x on tickets for all events.  The first event cost  x  plus 2 dollars and the second event cost $12 less than 4 times first event. The third event cost 3 times the first event. Find x.        x = ____________ 

                                                                                                 Perimeter (5x)m           Area = 20 m2                                  9 .   12m                x             12 m                                                                     

                                                                                   
                                         x=_____________                         (x,y)→(½x, ½y)                                   
                 6 m                                                                          x = 10m                           
                        slope: = _____________        10. Area:= __________ 11. Perimeter: = _________  
                                               (Bonus)                                                   
12.     3x+2   =     10x–8     x = ________     How many times greater is the dilated area                                                                  

            10                20                                  and volume of a shape using the scale factor of 3.5?                                                                                                                               

                                                                        13.  Area________ 14.  Volume _________ 

                                                                                                                                   
15. (x,y) →(x–4, y+6)  of point A ( 2, –10.): Location of A' =__________   

16. Point B (9.2, –5.5) ;  Find B' if B is Rotated 270⁰  (clockwise)   B'= _____________   

17. (x,y) →(x,–y)  of point C ( 2, –1) : Location of C' __________ and type: ______________
                                                                                                                                                                                                      (Bonus)                                                   
  What is the Slope and Equation of following sequence: {1, –1, –3, –5, –7,… }?    

 18.  Slope:  ________________      19.  Equation: ___________________

                                                                                        (Slope Intercept form)

20.  Find Radius:                   Find the Slope and Equation:  x    (   y       21. Slope: ___________
   7m      Volume≈ 65.97m3   of the line that created           – 2   ( – 31          
                                              the Table                                   1   (     5    22.Equation:_________
                  Radius=________{n}                                           4   (   41               (Slope Intercept form)

23. Difference between compound & simple compound interest:   

       $6800 @ 8.25% per year for 15 years                    Difference:________________                   

Find Volume and Surface areas of:                                          2x+13m
                                                                                           x – 2m                                       
24. Volume:  ___________                                                                                                     

            25.   Lateral   Surface Area:__________                                                     P   =32m 

                                    26. Total Surface Area  _______________    12m                             
